AT I

up=l

oo
System
Products

EXHA

Industrial

BEBIXAT—2 / 7=V L X 160X 160

Motorized X Linear Stages / Table Size 160X 160

RERA
Experi-
mental

FEEE
AF=
Manual
Stage

XA16F-L2101 XA16F-L2201 XA16F-L2301

[EIL

Rotation
@ XA16F-L2101 @ XA16F-L2201
(386.5) (486.5)
AR (90.5) 68 160 68 (90.5) 118 160 118
Tz s 140 L T“HL‘W
) g 100 g 100
Swivel T < —— =)  —
() b F [ate & otatl® ] [o OO [abe ¥ otobl == o]
A - —

SEiEE LT \ Nimi
27— 83| 8 118 sl
gﬂtc;tgoerized 114 g < } = j | I g
XXY EJ——‘(I' ¢ 770 B ui(\c & & 7000 M f
2R 10-M5 Depth 10mm,/ i 10-M5 Depth 10mm /

cew. cw Jcew o ow

ption Table

- 3 R
z | TAE
o

cam[|
. 7

I 7¥ i

| . .
CCW Limit Sensor / \Home Position CCW Limit Sensor / \ CW Limit Sensor

=k CW Limit Sensor, Home Position

Rotation #2 #2

for G srews (VS tapped ol Sfor MG srews (V3 tepped hole)
Shaftlength 18mm (48) 200 48 Shatlengih 18mm 3) .25 200 %, 73

@, 60 @

[ | [ 1
I | [ [
Z2ARJL S + = P 2 I + + ¢ F
(I=%)
Swivel 1)

E 1)
(Tilt) Back Side j <¢15 e — Back Side j
734
2N #1 K e ¢ Al #1 ad s & t ¢

Al ¢
2= 8-for M5 screw 18] ‘ 60 ‘ 140 ‘ 60 ‘ 18 12-for M5 screw 18) ‘ 110 L"}O ‘ 80 ‘30‘ 110 ‘ 18
XYo Shaft length 18mm Shaft length 18mm

140
150

S

o

g

IS

3

=
140
150

B
AF=
Vacuum

Stage @ XA16F-L2301

HlfHI=E o (90.5) 173
Control T
Electron-
ics [ <% P [t o PRy E:y—

(596.5)
160

140
100

173

w

==
avhk0-5
Motor
Controller

162
160
=
140

(184)

AITY3avF=IW
[1——“}‘ N > 79 ° ey pe— optiOI‘l Table

10-M5 Depth 10mm / @ 0TX160-K

RS54\
Ry IR
Driver
Box

77U + B
J—vav B pn ; %o
Applica- 71 ° f" 7L % 6-for M5 screws 70 70

10|
|
®
tion - Shaft length 5mm M8 Depth 11mm
CCW Limit Sensor CW Limit Sensor v
Home Position

E;i;« 4-M3 Depth 8mm
Motor
Driver

E=/=
T—=2
Motor E )

Cable Back Side 15 Depth 15mm 40 ‘

8% 60
Appendix e & ¢ + & & t=11

#1 gfor M5 screw (43) ‘ 140
Shaft length 21mm

(1)

(60)

(@)

#2
8-for M6 screws (M8 tapped hole) (53) 100 200 100 53
Shaft length 21mm | |

| \ \ gI
% = — - - 8M4 Depth 11mm

- N 4-M5 Depth 11mm
b

160
110
90
60
140

140

150
<
&

140 ‘ 43 110

140

7ot
HU— #1 KANBRT—IZRYNFBREMEABBREBYET,
Accesso- Through hole for M5 screw mount from upper side.

ries BAHNBSRT—IERUMTBBREMR Y TREBUET,

#2 Tapping hole for M8 screw mount from back side.

RE
VAT I
Inspection
System

H-034 CONTACT TEL +81-44-981-2131/FAX +81-44-981-2181 [E-mail] e-sale@kohzu.co.jp [URL] www.kohzuprecision.com



Aod K3 R ~ N & 3 >
— N VAT L
k/VFPHA R / F=WxP s
System
. . Products
Steel Body / Linear Guide / Ball Screw e
Industrial
B
M XA16F-L2101 XA16F-L2201 XA16F-L2301
odel Number
BFEVER i
Mirror Model Number ~ ullesEalls RO P qugﬁg]
F—7)E
Table Size 160mmx160mm
EHAHR BEI_THAN
Guide Mechanism Linear Guide
R +50mm +100mm +152mm
otion Range X-XY
XYHR A=%D, 1=K 5.0mm Yot
Lead Mechanism Ball Screw, Lead 5.0mm
TIW/IN=T ATV T
SHRHE o | Full/Half Step L@ 5
Resolution ~ | Y4407 7 (1/2058)) 0.5um Z
Micro Step (1/20 div) e
RimRE
Maximum Speed 50mm/sec @&
RIEY—RNERE =15um/100mm =<20um/200mm =20um/304mm Rotation
Accumulated Lead Error (AVE. 2.71um/100mm) (AVE. 5.38um/200mm) (AVE :10.05um/304mm)
RELAERORE <+0.54m (AVE. %0.064m) <+0.5um (AVE. +0.07um) <+0.5um (AVE. +0.09um)
epeatability ZANIL
OANE—>3> (I=#)
Lost Motion =5um (AVE. 2.82um) =5um (AVE. 2.93um) =5um (AVE. 3.04um) Swivel
KFE =<4um/100mm <5um/200mm <5um/304mm (Tiiy
HEE Horizontal (AVE. 1.03um/100mm) (AVE. 1.57um/200mm) (AVE. 2.13um/304mm) EEES
Straightness EE =<2um/100mm <5um/200mm =<5um/304mm AF—Y
Vertical (AVE. 0.78um/100mm) (AVE. 1.07um/200mm) (AVE. 1.36um/304mm) gtmgo”lw
NvIZva age
Backlash =2um (AVE. 0.22um) =2um (AVE. 0.23um) =2um (AVE. 0.31um) X-XY
E—XVMAIE 0.02 arcsec/N-cm 0.02 arcsec/N-cm 0.02 arcsec/N-cm X-XY
Moment Load Stiffness ~ (AVE. 0.001 arcsec/N-cm) (AVE. 0.001 arcsec/N-cm) (AVE. 0.001 arcsec/N-cm)
IKFMTEE
Load Capacity (Horizontal) 392N (40kef) z
ME #®(GF—JL 7ILIER) z
Material Steel (Table: Aluminum Alloy)
5 E&ELT =
Finish Matt Black O
2= Rotation
Weight 11.5ks 13.5kg 18.2kg
SHATYEVTE—E— C087Q-9215P (AU I I E—R—LUHFAEX: ERER 0.75A/, BEARTvTH 0.72°, U—RIR5XK) .
5 Phase Stepper Motor C087Q-9215P (Oriental Motor (KOHZU exclusive): Phase Current 0.75A, Basic Step Angle 0.72°, 5-Leads) é}r_/\z{l)’
T—h—wE ®8mm #7/a>/\UKILi B type Swivel
Motor Shaft Diameter ®8mm Conformance option handle: B type (Tilt)
aAXRTR AZ20E> (EO+: RP13A-12RA-20PC) PS5
Connector 20Pin Round (Hirose: RP13A-12RA-20PC) ;(; ~
AT —IREREAT oy V3 A=
Stage Wiring Type ~ XY6
RRER RREFROERIC. 8/l (F—42L) T2 T ZFAL TOET CWRIERES. B
Returning direction Returning direction is determined with zone sensor. CW side’s light is intercepted in all time. ;7—__;)
T ERBEK Vacuum
Sy Nal F-104(LIMIT), F-105(HOME) Stage
J—> 41 yen
- V== FUAEREI, XA16F-L2101-C XA16F-L2201-C XA16F-L2301-C il
ean Room Lubricant Model Number Control
HZEJ Z{EHRREIR Electron-
Vacuum Lubricant Model Number XA16F-L2101-V XA16F-L2201-V XA16F-L2301-V ics
w1 BFRVCOVTIEH-005X—YEBBLTTEL. 5z XAT—VBEOE—X MIEEO—VBIEERY T, ios
) Refer to page H-005 for Information on Standard and Mirror Symmetry ) Moment Stiffness of single X stage is measured in Roll Direction. Motor &
Configuration. wa AT—IREMOBMIZONTIEN-026~N-027X—YZBRLTFEL, Controller
%0 AT—=VDBREFN-T ATV T TIT>THVET. "~ Refer to page N-026~N-027 for stage wiring connection information. RS
Stage is inspected by half step setting. Ry T2
Driver
o AN ANBIIRABRREEENE LA, BIICOVTIIEA-—VES o WETBE—2—F—TIIZDNTIEN-014~N-01EA—IEBRLTF S Box
BLTTFXE0, Refer to page N-014~N-015 for information on corresponding motor cable. 7Y
Additional parts cost is not included on Overhaul cost. Refer to page 16 for XY TOMAFTE THRLORIE. HEBETHHVESHETE0N, J—yay
further information. ) © About the XY assembly for these stages, contact us for further information. ﬁgﬁ“ca_
7.,U Tyg ) ZEROBKNIEFKREIC “-C” HPRHEET. FMICDLVTIZC-005 QAT YV I E—R—HHEEEYET,
N=JEBRLTFEL, 2 phase stepper motor is available Y-
Clean room lubricant model has “-C” at the end of model number. Page C-005 for L. RSN
further information. TR VICDWTIEO-001X=2 2B L TTE, Motor
- i i D .
HZ S RAEOBRERRIC V' SEEET. I ONTIZC-0055— Refer\to page 0091 for |nformagt|on~?n accessory. river
SEBBLTFE. F72a>NY RILIEO-008X—2 BB L TTEL, E—5—
Vacuum lubricant model has “V” at the end of model number. Page C-005 for Refer to page 0-008 for information on Option Handle. 7=
further information. o PEROIELICXVHROTEORY ET. L RERHETHAVADETEL. Hhotor
A —HBEOEMICDONTIFC-004X—ABBLTT XL, We appreciate the product customizing. Contact us for further information.
° Page C-004 for further information about motor change. Aﬁpﬁndix
MY DE—F—a> rO—F - RFA/NZDWTIEN-002X—=TZ BB L TTF X,
Refer to page N-002 for information on corresponding motor controller and driver.

BEOWAEDEIE*TEL:044-981-2131, FAX:044-981-2181 [E-mail] sale@kohzu.co.jp [URL] www.kohzu.co.jp

7ot
JU—
Accesso-
ries

RE
VAT L
Inspection
System

H-035



